Tablel: Equilibria

(A=0.65r =0.04,b =0.6,d = 0.04)

A. NoRisk s, =0's,=0

a=10 a=175 a=25
y°y: s, s, I y/k ckly®°y; s, s, I y/k ckly®°y, s, s, I y/k  c/k
g=-15 [3.004 0.000 0.000 0.577 0.388 0.317 [1.812 0.000 0.000 0.704 0.313 0.255(1.090 0.000 0.000 0.771 0.268 0.217
g=- 1.453 0.000 0.000 0.588 0.382 0.327 |0.871 0.000 0.000 0.711 0.309 0.260|0.521 0.000 0.000 0.776 0.265 0.220
g=- 0.796 0.000 0.000 0.593 0.379 0.331 |0.475 0.000 0.000 0.714 0.307 0.262|0.284 0.000 0.000 0.777 0.264 0.221

B. Aggregate Risk Only s, =0.025 s ,=0

a=10 a=175 a=25
y°yis, s, | y/k ckly°®yi s, s | y/k ckl|y°®yi s, s | y/k  c/k
g=-15 |3.011 0969 0.969 0.577 0.388 0.318 |1.817 0.783 0.783 0.704 0.313 0.255|1.093 0.672 0.672 0.771 0.268 0.217
g=-4 |1472 0.954 0.954 0.588 0.382 0.327 |0.883 0.772 0.772 0.711 0.309 0.260|0.531 0.663 0.663 0.776 0.265 0.220
g=-8 0.833 0.948 0.948 0.593 0.379 0.331 |0.500 0.768 0.768 0.713 0.307 0.262 |0.302 0.660 0.660 0.777 0.264 0.221




Aggregate Plus I diosyncratic Risk
(i):s,=0.025s,=0.15

a=1.0

a=1.75

a=25

yoyi Sy

Y

y°y:. s, s, | yk

Y

3.284 0.972
2.159 0.961
2.188 0.961

5.913 0.575
5.846 0.583
5.848 0.583

1.997 0.785 4.778 0.702 0.314 0.254
1.335 0.778 4.730 0.707 0.311 0.258
1391 0.778 4.734 0.707 0.311 0.257

1.226 0.672
0.865 0.667
0.961 0.669

4.088 0.770
4.059 0.773
4.067 0.772

(i) s,=0.025s,=0.20

=10

a=1.75

a=25

yoyi Sy

Yi

yoyi Sy Syi | y/k

Yi

3.498 0.974
2.707 0.966
3.297 0.972

7.854 0.574
7.792 0.579
7.839 0.575

2139 0.787 6.345 0.701 0.315 0.253
1.696 0.782 6.303 0.705 0.313 0.256
2119 0.787 6.343 0.701 0.315 0.254

1.330 0.673
1.131 0.671
1.498 0.676

5.429 0.770
5408 0.771
5.446 0.768

(ili) s,=0.04s,=026

a=10

a=175

a=25

yoyi Sy

Y

y°y:. s, s, | yk

Y

3.851 1.564
3.629 1.561
5.226 1.586

10.29 0.571
10.26 0.573
10.43 0.561

2372 1264 8311 0.700 0.316 0.252
2303 1.262 8.302 0.700 0.316 0.253
3.384 1.283 8.438 0.692 0.321 0.247

1.503 1.081
1.579 1.082
2427 1.100

7.109 0.768
7.119 0.768
7.235 0.762




Table2:

Welfare Gains from Stabilization of Aggregate Shocks
(1) s, reduced from 0.025t0 0

and s, reduced from 0.15 to

015 0.125 010 0075 0 |015 0125 010 0075 0 |[015 0125 010 0075 O
a=10 a=1.75 a=25
%D(W) %D(W) %D(W)
g=-15 (0076 0908 1589 2117 2796|0061 0.734 1283 1710 2259|0053 0.631 1.104 1472 1944
g=- 0104 1245 2172 2889 3807|008 1026 1790 2382 3.138|0.075 0900 1571 2090 2754
g=- 0164 195 3402 4515 5931|0135 1612 2805 3723 4.891)|0119 1414 2462 3268 4.295
(ii) s, reduced from 0.025to0 O
and s, reduced from 0.20 to
020 0.175 015 010 O 020 0.175 015 010 O 020 0.175 015 010 O
a=10 a=175 a=25
%D(W) %D(W) %D(W)
g=-15 |0.078 1241 2248 3794 5027|0063 0999 1810 3053 4.046|0.054 0.858 1553 2621 3473
g=-4 (0110 1743 3144 5275 6.959(0.090 1427 2576 4323 5704|0078 1247 2250 3.778 4.987
g=-8 0180 2844 5105 8503 11.16|0.147 2319 4164 6941 9111|0128 2020 3.629 6.054 7.952
(iii) s, reduced from 0.04t0 0
and s, reduced from 0.26 to
026 022 018 013 O 026 022 018 013 O 026 022 018 013 O
a=1.0 a=1.75 a=25
%D(W) %D(W) %D(W)
g=-15 (0207 2690 4751 6.742 8905|0166 2152 3800 5390 7.118|0.142 1.839 3248 4.607 6.084
g=- 0306 3931 6.886 9.697 12.71|0.248 3184 5580 7.861 10.31|0.215 2760 4.841 6.824 8.951
g=-8 |0546 6.895 1193 1663 2157|0434 549 9530 1330 1727|0372 4719 8195 1145 14.89




Table 3:

Rates of Return

A. AggregateRisk Only s =0.025's,=0

a=1.0 a=1.75 a=25
e r -r gy | K r -r gy | K r -r 9y
g=-15 (1151 1151 O 181853 852 001 186 (672 6.71 001 19.0
g=- 11.27 1122 005 143|836 833 003 158 |661 659 0.02 171
g=- 11.17 11.09 0.08 12.7|828 823 005 147 |65 652 004 163
B. Aggregate Plus I diosyncratic Risk
(i):s,=0025s,=015
a=10 a=1.75 a=25
e r -r 9y | r -r 9y | r rn-r dy
g=-15 |1155 1068 087 187|857 800 057 191 |675 633 042 194
g=-4 11.38 967 171 160|844 732 112 172 |668 585 083 182
g=-8 11.38 830 308 161|845 643 202 173|670 521 149 186
(i) s,=0.025s,=0.20
a=10 a=175 a=25
N r -1 gy | % r -1 9y | K r -1 gy
g=-15 |1159 1005 154 192|859 759 100 195|677 6.04 073 196
g=- 1146 843 303 174|851 652 199 182 |6.73 527 146 191
g=-8 1156 6.03 553 188|859 470 362 194|681 414 267 204




(ili) s,=0.04s,=026

a=1.0 a=1.75 a=25
e r re-r 9y [ r r re-r gy [r r ro-r gy
g=-15 (1164 9.00 264 200|864 691 173 202 (681 555 126 204
g=- 1161 634 527 196 |862 518 345 200|682 429 253 206
g=- 1186 207 979 233|883 242 641 230|700 229 471 234
g=- 967 170 950 2271693 086 6.08 225 (529 090 439 230
b =0.65




